1. sinA=- & o tanA —cosA o 4f2? (F,0°<A<90°)
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ZI e sin cos tan
10° 0,1736 0,9848 0,1763
20° 0.3420 | 0,9397 0.3640
35° 0.5736 | 0.8192 0.7002
45° 0,7071 0,7071 1,0000
50° 0,7660 | 0,6428 1,1918
70° 0.9397 | 0.3420 2.7475
89° 0.9998 | 0.0175 57.2900

sinx = 0.5736

cosy = 0.9397

tanz = 2.7475
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@ sin45° = cos45°

@ cos48° > cos38°
@ tan35° < tan40°® @ sin37° < cos37°
B sin56° < cos 56 °



13. 45°<A<90° ¥4, \/(sinA —cosA)2— \/(sinA — cosA)? & 7tk
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tan(A — 15°) = 1 0|4, x> — 2xtan A — 3(tan A)? = 0 2]
TotH? (T 0° <A <90°)
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T sin | cos | tan

22°10.37/0.93/0.40

50° 10.77/0.64 1,20

@ 150cm? @ 160 cm? @ 180 cm?

@ 240 cm? B 360 cm?



17. the 283} Zo] Eol
dlolzZ7t 09 22

o
OPQRS 9] §°]& -3zt

(=

sin’ 6

(1 —cosb)?

© siné




18. thg 1% 2ol mA ] Aol 6 2
AAPHA L] g HAHE O oA EHH W
A Ao S H 2 ok, AB 9] SHS
M o]gt 514t /OCH = x 2t & o], tan x
o] k& otofet.




19.

th-e T3} Zol 4O = 90° ¢l AABC oA

AD =CD =BC =3+v2°]1, /ABD = x &+
S off, cos x o] BE2?

VI0 2 IO V0
O @ 04

210 3V10
® 10 ® 10




20.

che 9w Zol Aol Pol7t 4 ¢
ARRAL] B B4 0 oA LA
) 9e 1 2 S, A o 8L M

olgt 5t} /OCH = x 2t & W, tanx 2
20

O V2 @ 2v2 ® 342
@ V3 ® 33




a9

O
=

21. o

7+l 3717k 60° ©]1, AB = 6cm

o

27

o ol

sho] A AE 2y

O°f of
SE

cm?



22. o I¥lA AB 9] Zol=? A

60°
26 V6
& F
©




23.

(B = /C Q] o] 5HAZY

AB 9] 4ol & Fotofzt,

YR
=%

ABC 9|4 /A =

30°,

BC =8



24. o3 399 AABC 94 cosB = = ¢ W], AABC 2] Ho|E Fatofzt.

[S2 VY]




25. o2 O AABC oA A /B: «C =
3:4:50]1, Y O 9 vz E 9] Ao
7F4em @ W, AABC &] g o]E +oteiet,
(F, &9l= A=kl



